D E P A R T M E N T  O F  C I V I L  E N G I N E E R I N G

                    Quiz/ Assignment
Subject:  Advanced Engineering Survey 


                                                          Duration: 6 days
Instructor: Engr. Abdul Farhan





                              Total Marks: 30
Note: Attempt all questions.  Draw sketches where necessary.

Q.NO (01)                                                                                                                     

                            (10)
	(a) Two tangents meet at a chainage of (I.D)ft with the deflection angle of 14°13'23". Degree of curve is 5°. (5 Marks)
Calculate

1. Chainage at the beginning and end of the curve.

2. Length of long chord.

3. Mid ordinate and External distance.
(b) Find the area from the data obtained from chain survey, as shown in the table below, using simpson one Third rule. The first offset is your I.D ÷ 1000. For exampe, if someone having an I.D of 7932, then his/her first offset will be 7.932 and so on.

(5 Marks)
Chainage (m)

0

30

60

90

120

150

Offset (m)

7.932

7.932+3

7.932+4

7.932-2

7.932-4

7.932-3


	Taxonomy Domain
	Programe Learning Objectives

	
	C-3
	2


Q.NO (02)                                                                                                                        

                             (10)
	A circular curve of radius (I.D -200)m deflecting right through 20°40′, is to be aet out between two straights having chainage of the point of intersection as (I.D-400) m.

Calculate all the data necessary for setting out the curve using deflection angle method, with  Peg interval being 20 m.

	Taxonomy Domain
	Programe Learning Objectives

	
	C-3
	      2


Q.NO (03)                                                                                            

                                                         (10)
	Two tangents AB & BC are intersected by a line KM. The  angles AKM and KMC are 130°& 140° respectively. The radius of  1st arc is (I.D-300) m and of 2nd arc is (I.D-200) m. Find the chainage of  tangent points and the point of compound curve given that  the chainage of intersection point is (I.D-400) m.


	Taxonomy Domain
	Programe Learning Objectives

	
	C-3
	2
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